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1  Alberto and Maria share $240 in the ratio 3 : 5.

(a) Show that Alberto receives $90 and Maria receives $150.

Answer(a)
[1]
(b) (i) Alberto invests his $90 for 2 years at » % per year simple interest.
At the end of 2 years the amount of money he has is $99.
Calculate the value of r.
Answer(D)(1) 1= ..o 2]
(i) The $99 is 60% of the cost of a holiday.
Calculate the cost of the holiday.
Answer(b)(i) $ ... 2]
(¢c) Maria invests her $150 for 2 years at 4% per year compound interest.
Calculate the exact amount Maria has at the end of 2 years.
Answer(c) 3 ... 2]

(d) Maria continues to invest her money at 4% per year compound interest.
After 20 years she has $328.67.

(i) Calculate exactly how much more this is than $150 invested for 20 years at 4% per year
simple interest.

Answer(d)1)$ ..o [3]
(if) Calculate $328.67 as a percentage of $150.
Answer(@)(il) ... % [2]
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(i) Find, as a single column vector, p + 2q.

Answer(a)(l) (2]
(ii) Calculate the value of 1p+2ql.
ANSWEF(A)(11) oo e e emee e se e sseenan (2]
(b) C
NOTTO
SCALE
M
o I V
In the diagram, CM = MV and OL =2LV.
O is the origin. OC =cand OV =v.
Find, in terms of ¢ and v, in their simplest forms
Q) CM,
ANSWEF(D)(1) oo eeeeeeeeeeeessaesaeesessensmsanean (2]
(ii) the position vector of M,
ARSWEF(D)(L1)  ooeeeeeeeeeeeeeeee e e nan (2]
(idi) ML,
ANSWEr(D)(I1])  .oeereeerereeeeseemeremessessmsenmessessnnes (2]
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The diagram shows a spinner with six numbered sections.
Some of the sections are shaded.

Each time the spinner is spun it stops on one of the six sections.
Itis equally likely that it stops on any one of the sections.

(a) The spinner is spun once.
Find the probability that it stops on

(1) ashaded section,

E () [1]
(i1) asection numbered 1,

Answer(@)(ii) ..o [1]
(iii) a shaded section numbered 1,

Answer(@)(ili) ..o [1]
(iv) ashaded section or a section numbered 1.

Answer(@)(iV) .o [1]
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For
(b) The spinner is now spun twice. Examiner's
Use
Find the probability that the total of the two numbers is
@ 20,
Answer()(i) ..o eeeeneeens [2]
(i) 11
Answer(B)(ii) e [2]
(c) (@) The spinner stops on a shaded section.
Find the probability that this section is numbered 2.
Answer(c)(i) .t [1]
(i) The spinner stops on a section numbered 2.
Find the probability that this section is shaded.
Answer(©)(ll) ..o [1]
(d) The spinner is now spun until it stops on a section numbered 2.
16
The probability that this happens on the nth spinis 5,5
Find the value of n.
Answer(d) =" e [2]
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